COUNTDOWN TO YOUR FINAL MATHS EXAM ...

PART 8 (2017)

J
JustMaths

Marks | Actual . @ .

Q1. Quadratic graphs 4
Q2. Quadratic graphs 6
Q3. Matching non-linear graphs to equations 3
Q4. Quadratic graphs 6
Q5. Turning points and roots of functions 3
Q6. Probability & listing combinations 4
Q7. Matching linear and non-linear graphs to equations 3
Q8. Cubic graphs 4
Q9. Use product rule to find combinations (Higher only) 2
Q10. List and interpret combinations (Higher only) 3
Q11. Describe an enlargement 3
Q12. Enlarge a shape 3
Q13. Area and fractional enlargements 3
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Questions

Q1. (a) Complete the table of values for y = x> — 4

X -3 -2 -1 0 1 2 3
y 0 -3 0 5
(2)
(b) On the grid, draw the graph of y = x> — 4 for x=-3tox = 3
-‘.AL
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(Total for Question is 4 marks)
Q2. (a) Complete the table of values fory = x> = x5 3

X -1 0 1 2 3 4 5
) 3 -1 -3 3
2
(b) On the grid below, draw the graph of y = x> = x5 3 for values of xfromx= - 1x=60
2
(c) Find estimates of the solutions of the equation x> = x5 3=0
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Q3. Here are three graphs.

Here are four equations of graphs.

y=x3 y=x>+4 y=% y =2

Match each to the correct equation.

(Total for Question is 3 marks)
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(Total for Question is 6 marks)
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Q4.(a) Complete the table for the values fory = 6 — x — x2

X -4 =3

=2 -1

2 3
y -6 4 6

2)
(b) On the grid, draw the graph of y = 6 — x — x? for values of x from —4 to 3
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(c) Find estimates for the solutions of the equation 6 — x — x*> = 2

(Total for question = 6 marks)
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Q5. The graph of y = f(x) is drawn on the grid.
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/
/
= 1/ 0 1 2 3\ 4 x
/ \
/ -1 \
(a) Write down the coordinates of the turning point of the graph.
O ) e s ) (1)
(b) Write down the roots of f(x) = 2
........................................................... (1)
(c) Write down the value of f(0.5)
........................................................... (1)

(Total for question = 3 marks)
Q6. In a box there are three types of chocolates.

There are 6 plain chocolates,
8 milk chocolates
and 10 white chocolates.
Ben takes at random a chocolate from the box.

(a) Write down the probability that Ben takes a plain chocolate.

Deon takes 2 chocolates from the box.

(b) Write down all the possible combinations of types of chocolates that Deon can take.

)

(Total for question = 4 marks)
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Q7. Here are some graphs that show relationships.

A curve or line of best fit has been drawn on each graph.

A A
¥ ¥
x 3
o Graph A x o Graph B x
4
}’
o Graph C

The equation of each graph is one of the equations in the following list.
y= 10x —y=22* y=2x—- 10y=8x- x2 y=3x?

Give the equation of each graph.

Graph A .o
Graph B ..o
Graph C ..o
(Total for question = 3 marks)
Q8. (a) Complete the table of values fory = x> - x4
x =3 -2 -1 0 1 2 3
) 3 0 15

)
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(b) On the grid, draw the graphofy =x®* - x4romx= - X=80
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(Total for Question is 4 marks)
Q9. There are 14 boys and 12 girls in a class.

Work out the total number of ways that 1 boy and 1 girl can be chosen from the class.

(Total for question is 2 marks)

Q10. There are 17 men and 26 women in a choir.
The choir is going to sing at a concert.

One of the men and one of the women are going to be chosen to make a pair to sing the first song.

(a) Work out the number of different pairs that can be chosen.
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Two of the men are to be chosen to make a pair to sing the second song.

Ben thinks the number of different pairs that can be chosen is 136
Mark thinks the number of different pairs that can be chosen is 272

(b) Who is correct, Ben or Mark?
Give a reason for your answer.

(1)

(Total for question = 3 marks)

Q11.

B 473

HV

o 1 2 3 4 5 6 7 8

Describe fully the single transformation that maps shape P onto shape Q.

(Total for Question is 3 marks)
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Q12.

A

X

On the grid, enlarge the shape with scale factor 3, centre A.

(Total for Question is 3 marks)

Q13.

v

0 1 2 3 4 5 6 7 8 «x

Triangle ABC is drawn on a centimetre grid.

A is the point (2, 2).

B is the point (6, 2).

C is the point (5, 5).

Triangle PQR is an enlargement of triangle ABC with scale factor % and centre (0, 0).

Work out the area of triangle PQR.

(Total for Question is 3 marks)

www.justmaths.co.uk



